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Answer Sheet

Total Points: 30 (15 multiple choice + 15 calculation&drawing)

Exercise 1. Multiple Choice (maximum points: 15)
Points: …….. / 15

	1
	A
	5
	A
	9
	
	13
	

	2
	D
	6
	
	10
	
	14
	

	3
	A
	7
	
	11
	
	15
	

	4
	D
	8
	
	12
	


Exercise 2 (maximum points: 10)
(8,5 pt)
The critical path (given with activity labels): ………………………..…… (1 pt)


Total Project Time (TPT) = ……………… days  (1 pt)
Critical activities not on the critical path (if there is any): ………………  (0,5 pt)

Exercise 3 (maximum points: 5)

Crashing in steps (3 pts):
	Steps:
	1
	2
	3
	4
	5
	6
	7

	Crashed activity:
	
	
	
	
	
	
	


TPT after crashing: ………………. days (1 pt)    
Total net benefit from crashing: …………………….. (1 pts)
Exercise 1: Multiple Choice (only one answer is correct)
	1. 
	For a usual business activity the … is the most important, but for a project it is the … .
a) efficiency; effectiveness
b) effectiveness; efficiency 
c) performance; budget
d) cost; schedule

	2. 
	If one or more activity overruns and the responsible project worker is identified… 
a) the GANTT chart and the PNT should be modified (durations, deadlines should be revisited).
b) removing that person form the given work package is always the best choice.
c) impeachment should be clear and fast to protect the project deadlines and quality.

d) try to avoid recrimination (‘past is dead’).

	3. 
	If we know that one of the suppliers has 12% chance to go bankrupt, then it is a … for the project.
a) risk
b) uncertainty
c) opportunity cost
d) weakness

	4. 
	Insurance is a good example on...
a) risk avoidance
b) risk deferral
c) risk reallocation 

d) risk transfer

	5. 
	The schedule variance in cost terms is:
a) (Budgeted Cost of Work Performed) – (Budgeted Cost of Work Scheduled)
b) (Budgeted Cost of Work Performed) – (Actual Cost of Work Performed)

c) (Budgeted Cost of Work Scheduled) – (Actual Cost of Work Performed)
d) (Actual Cost of Work Performed) – (Budgeted Cost of Work Performed)

	6. 
	a) 

	7. 
	a) 

	8. 
	a) 


	9. 
	a) 

	10. 
	a) 

	11. 
	a) 


	12. 
	a) 

	13. 
	a) 

	14. 
	a) 

	15. 
	a) 


Calculation & plotting exercises (in the mid-term there will be 2 exercises) (max. points: 15)
Exercise 2
Given the following data, plot an AoN network of the project with the necessary data (the total and the free floats, durations, logical connections, all the activity times etc.), identify the critical path and all other critical activities, calculate the TPT. 
	Activity label
	Duration (days)
	Immediate predecessor

	a
	2
	-

	b
	13
	-

	c
	4
	a

	d
	3
	a

	e
	3
	d

	f
	2
	c, e


Exercise 3
There is a project with the following data:

	Activity

(label)
	Immediate predecessor
	Duration

(days)
	Crash time
	Cost-slope
(€/day)

	a
	-
	4
	2
	100

	b
	a
	3
	2
	250

	c
	b
	3
	1
	110

	d
	c
	5
	3
	200

	e
	a
	2
	1
	160

	f
	d, e
	3
	2
	500


If the daily indirect cost is: 400.

Identify the crashing process step by step and calculate the new TPT and the overall net benefit of crashing.
